BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

CONSTRUCTION OF THE WATER, DRAINAGE FACILITIES AND PAVING AND APPURTENANCES TO SERVE THE GEORGE BENTON ROAD PHASE 1 STREET DEDICATION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237A, FORT BEND COUNTY WATER CONTROL AND IMPROVEMENT DISTRICT NO. 12 CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS MAY 02, 2025 LIA ENGINEERING, INC.

5/2/2025 4683-1303A&B (9.2)

D.CAMPOS

BIDDER NAME	BASE BID	
1) HURTADO CONSTRUCTION COMPANY	\$2,091,888.88	
2) HARRIS CONSTRUCTION COMPANY, LLC	\$2,497,093.30	
3) PRINCIPAL SERVICES, LTD	\$2,758,887.85	
4) CE BARKER LTD.	\$2,774,565.80	
75/85 DAYS		

JOHN R. WEBER

I, Jack Weber, P.E., hereby certify these bid tabulations to be true and correct.

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237A, FORT BEND COUNTY WATER CONTROL AND IMPROVEMENT DISTRICT NO. 12 CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS

MAY 02, 2025 LJA ENGINEERING, INC. D.CAMPOS 5/2/2025 4683-1303A&B (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

				1) HURTADO CONSTRUCTION COMPANY		2) HARRIS CONSTRUCTION COMPANY, LLC		3) PRINCIPAL SERVICES, LTD		4) CE BARKER LTD.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	ROSENBERG WATER SYSTEM ITEMS 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS,	LF	260	\$58.00	\$15,080.00	\$32.90	\$8,554.00	\$45.00	\$11,700.00	\$50.00	\$13,000.00
2	COMPLETE IN PLACE 12" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTIN GS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	219	\$78.00	\$17,082.00	\$66.35	\$14,530.65	\$91.00	\$19,929.00	\$85.00	\$18,615.00
3	16" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2589	\$88.00	\$227,832.00	\$75.60	\$195,728.40	\$68.00	\$176,052.00	\$90.00	\$233,010.00
4	8" PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	21	\$103.00	\$2,163.00	\$83.35	\$1,750.35	\$93.00	\$1,953.00	\$120.00	\$2,520.00
5	12" PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	44	\$198.00	\$8,712.00	\$154.75	\$6,809.00	\$197.00	\$8,668.00	\$245.00	\$10,780.00
6	16" PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	451	\$165.00	\$74,415.00	\$198.40	\$89,478.40	\$233.00	\$105,083.00	\$300.00	\$135,300.00
7	REMOVE AND OFFSITE DISPOSAL OF EXISTING WATER LINE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	273	\$40.00	\$10,920.00	\$20.00	\$5,460.00	\$10.00	\$2,730.00	\$15.00	\$4,095.00
8	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$1,980.00	\$1,980.00	\$2,275.00	\$2,275.00	\$2,222.00	\$2,222.00	\$2,400.00	\$2,400.00
9	12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	3	\$3,475.00	\$10,425.00	\$4,985.00	\$14,955.00	\$4,270.00	\$12,810.00	\$4,500.00	\$13,500.00
10	16" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	6	\$10,308.00	\$61,848.00	\$14,150.00	\$84,900.00	\$7,966.00	\$47,796.00	\$20,000.00	\$120,000.00
11	12" PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	1	\$2,800.00	\$2,800.00	\$3,795.00	\$3,795.00	\$2,576.00	\$2,576.00	\$3,000.00	\$3,000.00
12	16" PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	1	\$3,148.00	\$3,148.00	\$5,385.00	\$5,385.00	\$3,105.00	\$3,105.00	\$5,000.00	\$5,000.00
13	FLUSHING VALVE UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$15,000.00	\$45,000.00	\$10,825.00	\$32,475.00	\$8,576.00	\$25,728.00	\$11,000.00	\$33,000.00
14	WET CONNECTION OF PROPOSED WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$5,500.00	\$16,500.00	\$1,725.00	\$5,175.00	\$1,373.00	\$4,119.00	\$5,000.00	\$15,000.00
15	2" AIR RELEASE VALVE ASSEMBLY FOR WATER LINE, INCLUDES SERVICE MANHOLE, COMPLETE IN PLACE	EA	2	\$23,000.00	\$46,000.00	\$19,845.00	\$39,690.00	\$24,250.00	\$48,500.00	\$12,000.00	\$24,000.00
16	16" STEEL CASING FOR 8" WATER LINE, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	212	\$110.00	\$23,320.00	\$90.70	\$19,228.40	\$82.00	\$17,384.00	\$130.00	\$27,560.00
17	20" STEEL CASING FOR 12" WATER LINE, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	109	\$115.00	\$12,535.00	\$141.75	\$15,450.75	\$113.00	\$12,317.00	\$180.00	\$19,620.00

FRN F-1386

LJA Engineering, Inc.

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237A, FORT BEND COUNTY WATER CONTROL AND IMPROVEMENT DISTRICT NO. 12 CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS

MAY 02, 2025 LIA ENGINEERING, INC. D.CAMPOS 5/2/2025 4683-1303A&B (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

				1) HURTADO CONSTRUCTION COMPANY		2) HARRIS CONSTRUCTION COMPANY, LLC		3) PRINCIPAL SERVICES, LTD		4) CE BARKER LTD.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
18	26" STEEL CASING FOR 16" WATER LINE, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	417	\$120.00	\$50,040.00	\$238.10	\$99,287.70	\$155.00	\$64,635.00	\$310.00	\$129,270.00
19	DRY AUGER FOR 8" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	212	\$105.00	\$22,260.00	\$385.00	\$81,620.00	\$150.00	\$31,800.00	\$410.00	\$86,920.00
20	DRY AUGER FOR 12" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	40	\$125.00	\$5,000.00	\$385.00	\$15,400.00	\$200.00	\$8,000.00	\$480.00	\$19,200.00
21	DRY AUGER FOR 16" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	369	\$198.00	\$73,062.00	\$385.00	\$142,065.00	\$300.00	\$110,700.00	\$500.00	\$184,500.00
22	ADDITIONAL DUCTILE IRON FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	TON	2.09	\$1,000.00	\$2,090.00	\$3,000.00	\$6,270.00	\$1.00	\$2.09	\$1,000.00	\$2,090.00
	DEWATERING FOR WATER LINE, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	3068	\$20.00	\$61,360.00	\$20.00	\$61,360.00	\$20.00	\$61,360.00	\$20.00	\$61,360.00
24	TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	3068	\$1.00	\$3,068.00	\$1.00	\$3,068.00	\$1.00	\$3,068.00	\$1.00	\$3,068.00
SUBTO	AL CITY OF ROSENBERG WATER SYSTEM ITEMS			-	\$796,640.00		\$954,710.65		\$782,237.09	_	\$1,166,808.00
DRAINA	GE FACILITIES ITEMS										
	. 24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	212	\$108.00	\$22,896.00	\$124.25	\$26,341.00	\$118.00	\$25,016.00	\$160.00	\$33,920.00
2	A' X 4' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	238	\$388.00	\$92,344.00	\$468.75	\$111,562.50	\$472.00	\$112,336.00	\$540.00	\$128,520.00
3	REMOVE AND OFFSITE DISPOSAL OF EXISTING STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	79	\$25.00	\$1,975.00	\$20.00	\$1,580.00	\$42.00	\$3,318.00	\$30.00	\$2,370.00
4	REINFORCED CONCRETE TYPE "A" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,300.00	\$2,300.00	\$1,985.00	\$1,985.00	\$2,887.00	\$2,887.00	\$2,700.00	\$2,700.00
5	ADJUST EXISTING REINFORCED CONCRETE TYPE "A" INLET TOP TO FINAL GRADE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$750.00	\$750.00	\$605.00	\$605.00	\$1,400.00	\$1,400.00
6	STANDARD REINFORCED CONCRETE PRECAST TYPE "D" INLET, INCLUDES INLET PROTECTION BARRIER, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$6,000.00	\$12,000.00	\$2,100.00	\$4,200.00	\$2,978.00	\$5,956.00	\$3,100.00	\$6,200.00
7	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER WITH REINFORCED CONCRETE TYPE "E" INLET TOP, TWO SIDES OPEN, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$4,000.00	\$4,000.00	\$2,400.00	\$2,400.00	\$3,265.00	\$3,265.00	\$6,500.00	\$6,500.00
8	6:1 SAFETY END TREATMENT FOR 24" STORM SEWER, INCLUDES SLOPE PAVING, COMPLETE IN PLACE	EA	3	\$1,500.00	\$4,500.00	\$3,745.00	\$11,235.00	\$2,846.00	\$8,538.00	\$2,700.00	\$8,100.00
9	REMOVE AND OFFSITE DISPOSAL OF EXISTING SAFETY END TREATMENT, ALL SIZES, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$450.00	\$450.00	\$1,639.00	\$1,639.00	\$700.00	\$700.00
10	9' HEADWALL FOR DUAL 4' X 4' BOX CULVERT PER TXDOT DETAILS, INCLUDES FOOTING, COMPLETE IN PLACE	EA	2	\$49,800.00	\$99,600.00	\$42,165.00	\$84,330.00	\$40,272.00	\$80,544.00	\$45,000.00	\$90,000.00
11	4" REINFORCED CONCRETE APRON, 6'X30', WITH 3' TOE WALLS, PER DETAILS, COMPLETE IN PLACE	SY	40	\$118.00	\$4,720.00	\$993.75	\$39,750.00	\$129.00	\$5,160.00	\$125.00	\$5,000.00
12	REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$8.00	\$8.00	\$650.00	\$650.00	\$339.00	\$339.00	\$5,000.00	\$5,000.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237A, FORT BEND COUNTY WATER CONTROL AND IMPROVEMENT DISTRICT NO. 12 CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS MAY 02, 2025
LIA ENGINEERING, INC.
D.CAMPOS
5/2/2025

				1) HURTADO CONSTRUCTION COMPANY		2) HARRIS CONSTRUCTION COMPANY, LLC		3) PRINCIPAL SERVICES, LTD		4) CE BARKER LTD.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
13	REGRADE EXISTING ROADSIDE DITCH, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	2105	\$5.00	\$10,525.00	\$5.00	\$10,525.00	\$5.00	\$10,525.00	\$5.00	\$10,525.00
14	EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - V-BOTTOM, (0'-2' DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	414	\$4.00	\$1,656.00	\$4.00	\$1,656.00	\$4.00	\$1,656.00	\$4.00	\$1,656.00
15	. EXTRA CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	1000	\$40.00	\$40,000.00	\$40.00	\$40,000.00	\$40.00	\$40,000.00	\$40.00	\$40,000.00
16	DESILTING OF STORM SEWER, AND REMOVAL OF DEBRIS, INCLUDES OFFSITE DISPOSAL, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	33	\$15.00	\$495.00	\$100.00	\$3,300.00	\$36.00	\$1,188.00	\$100.00	\$3,300.00
17	. TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	450	\$1.00	\$450.00	\$1.00	\$450.00	\$1.00	\$450.00	\$1.00	\$450.00
18	. DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	450	\$40.00	\$18,000.00	\$40.00	\$18,000.00	\$40.00	\$18,000.00	\$40.00	\$18,000.00
19	. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
20	EXCAVATION AND GRADING OF TEMPORARY IRRIGATION CANAL REROUTE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СҮ	2287	\$4.00	\$9,148.00	\$9.75	\$22,298.25	\$8.00	\$18,296.00	\$20.00	\$45,740.00
21	REMOVAL OF TEMPORARY IRRIGATION CANAL INCLUDING ALL RIP-RAP AND WATER CONTROL ITEMS AND REESTABLISHMENT OF EXISTING IRRIGATION CANAL UPON COMPLETION OF CONSTRUCTION, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	СУ	2287	\$1.00	\$2,287.00	\$31.95	\$73,069.65	\$8.00	\$18,296.00	\$30.00	\$68,610.00
22	WATER CONTROL, INCLUDES PUMPING REQUIRED TO CONSTRUCT PROPOSED TEMPORARY IRRIGATION CANAL, CONTRACTOR TO MAINTAIN FLOW OF WATER IN THE IRRIGATION CANAL FOR THE DURATION OF CONSTRUCTION, INCLUDES ALL NECESSARY ITEMS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00	\$100,000.00	\$100,000.00	\$7,500.00	\$7,500.00
23	CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF TEMPORARY IRRIGATION CANAL REROUTE, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$1,000.00	\$4,000.00	\$5,000.00	\$20,000.00	\$1,000.00	\$4,000.00	\$2,500.00	\$10,000.00
24	. 18" THICK CONCRETE RIP RAP FOR TEMPORARY IRRIGATION CANAL REROUTE, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	1270	\$108.00	\$137,160.00	\$137.75	\$174,942.50	\$112.00	\$142,240.00	\$95.00	\$120,650.00

4683-1303A&B (9.2)

FRN F-1386

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237A, FORT BEND COUNTY WATER CONTROL AND IMPROVEMENT DISTRICT NO. 12 CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS MAY 02, 2025
LIA ENGINEERING, INC.
D.CAMPOS
5/2/2025

4683-1303A&B (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				1) HURTADO CONSTRUCTION COMPANY 2) HARRIS CONSTRUCTION COMPANY, LLC		3) PRINCIPAL SERVICES, LTD		4) CE BARKER LTD.			
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
25	TEMPORARILY REMOVE DRAINAGE SWALE FOR DURATION OF TEMPORARY IRRIGATION CANAL REROUTE, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	198	\$3.00	\$594.00	\$3.00	\$594.00	\$3.00	\$594.00	\$3.00	\$594.00
26	6. REMOVE AND RELOCATE AIR BRIDGE, AS NECESSARY, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$580.00	\$580.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00
27	PIPELINE CROSSINGS, TO INCLUDE MATS AND ALL NECESSARY ITEMS, AS REQUIRED AND DIRECTED BY EACH PIPELINE'S FIELD REPRESENTATIVES, COMPLETE IN PLACE	EA	4	\$2,000.00	\$8,000.00	\$5,000.00	\$20,000.00	\$500.00	\$2,000.00	\$5,000.00	\$20,000.00
28	S. INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
29	. METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER GBI PARTNERS, LP, 281.499.4539, FOR WATER AND DRAINAGE, COMPLETE IN PLACE	LS	1	\$4,850.00	\$4,850.00	\$4,850.00	\$4,850.00	\$4,850.00	\$4,850.00	\$4,850.00	\$4,850.00
30	D. MOBILIZATION, INCLUDES BONDS, INSURANCE, CONSTRUCTION PERMITS, ETC., COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$605,033.16	\$605,033.16	\$55,000.00	\$55,000.00
31	ALLOWANCE FOR FORT BEND COUNTY PERMIT FOR WORK INSIDE RIGHT OF WAY, AS NECESSARY, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
32	E. HYDROMULCH SEEDING, INCLUDES WATERING FERTILIZATION, AND MAINTENANCES AS NEEDED TO ESTABLISH GRASS GROWTH, ALL AREAS WILL NEED TO HAVE AT LEAST 90% GRASS COVERAGE BEFORE RETAINAGE WILL BE RELEASED, CONTACT DAVID WILLIAMSON WITH SILT SOLUTIONS AT 281.961.9950 DAVID@SILTSOLUTIONSINC.COM, COMPLETE IN PLACE	AC	2	\$2,000.00	\$4,000.00	\$3,625.00	\$7,250.00	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00
33	REMOVE AND RELOCATE AND OR DISPOSE OF EXISTING UTILITIES AND FACILITIES, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LS	1	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
	TAL DRAINAGE FACILITIES ITEMS			•	\$519,088.00	-	\$727,168.90	_	\$1,247,231.16		\$733,285.00
	S AND APPURTENANCES ITEMS . 8" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	3593	\$88.00	\$316,184.00	\$76.95	\$276,481.35	\$97.00	\$348,521.00	\$95.00	\$341,335.00
2	2. 3" TYPE "D" HMAC PAVING WITH 8" BLACK BASE AND PRIME COAT, COMPLETE IN PLACE	SY	691	\$208.00	\$143,728.00	\$145.95	\$100,851.45	\$142.00	\$98,122.00	\$120.00	\$82,920.00
3	RESURFACE EXISTING ASPHALT PAVEMENT, COMPLETE IN PLACE	SY	897	\$25.00	\$22,425.00	\$130.75	\$117,282.75	\$40.00	\$35,880.00	\$95.00	\$85,215.00
4	3. 3" TYPE "D" HMAC PAVING WITH 8" BLACK BASE AND PRIME COAT FOR BENTON ROAD TRANSITION, COMPLETE IN PLACE	SY	140	\$208.00	\$29,120.00	\$288.05	\$40,327.00	\$210.00	\$29,400.00	\$65.00	\$9,100.00
5	5. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2073	\$4.08	\$8,457.84	\$3.95	\$8,188.35	\$4.00	\$8,292.00	\$5.00	\$10,365.00
6	i. 8" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	4211	\$12.00	\$50,532.00	\$6.35	\$26,739.85	\$5.00	\$21,055.00	\$10.00	\$42,110.00

CONSTRUCTION OF THE WATER, DRAINAGE FACILITIES AND PAVING AND APPURTENANCES TO SERVE THE GEORGE BENTON ROAD PHASE 1 STREET DEDICATION

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237A, FORT BEND COUNTY WATER CONTROL AND IMPROVEMENT DISTRICT NO. 12 CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS

MAY 02, 2025 LIA ENGINEERING, INC. D.CAMPOS 5/2/2025 4683-1303A&B (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				1) HURTADO CONS	TRUCTION COMPANY	2) HARRIS CONSTRUCTION COMPANY, LLC		3) PRINCIPAL SERVICES, LTD		4) CE BARKER LTD.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
7	LIME FOR 8" STABILIZED SUBGRADE PREPARATION, 19 LBS/SY, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	40	\$398.00	\$15,920.00	\$450.00	\$18,000.00	\$400.00	\$16,000.00	\$360.00	\$14,400.00
8	S. FLY ASH FOR 8" STABILIZED SUBGRADE PREPARATION, 43 LBS/SY, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	90.54	\$165.00	\$14,939.10	\$165.00	\$14,939.10	\$150.00	\$13,581.00	\$180.00	\$16,297.20
Ç	D. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СУ	1432	\$4.80	\$6,873.60	\$5.50	\$7,876.00	\$5.00	\$7,160.00	\$1.00	\$1,432.00
10	DON-SITE EXCAVATION TO BE USED FOR ONSITE ROADWAY, AND IN SPECIFIED FILL AREA, (PER GRADING PLAN, INCLUDED EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	СҮ	605	\$4.80	\$2,904.00	\$5.50	\$3,327.50	\$15,00	\$9,075.00	\$10.00	\$6,050.00
11	IMPORT FILL, INCLUDES HAUL FROM DESIGNATED STOCKPILE, USING OFF ROAD TRUCKS, (0 - 0.5 MILE), PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL SITE GRADING, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	СҮ	1378	\$4.80	\$6,614.40	\$8.00	\$11,024.00	\$12.00	\$16,536.00	\$34.00	\$46,852.00
12	2. 5' WIDE REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE, AS DIRECTED BY THE ENGINEER	LF	341	\$42.00	\$14,322.00	\$49.50	\$16,879.50	\$39.00	\$13,299.00	\$55.00	\$18,755.00
13	8. 8' WIDE REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE, AS DIRECTED BY THE ENGINEER	LF	573	\$47.00	\$26,931.00	\$79.35	\$45,467.55	\$39.00	\$22,347.00	\$85.00	\$48,705.00
14	. TEMPORARY TRAFFIC CONTROL PER DETOUR ROUTE, COMPLETE IN PLACE	LS	1	\$18,010.84	\$18,010.84	\$26,500.00	\$26,500.00	\$7,500.00	\$7,500.00	\$50,000.00	\$50,000.00
15	E. PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLAC+B100E	LS	1	\$22,000.00	\$22,000.00	\$12,995.00	\$12,995.00	\$1,000.00	\$1,000.00	\$16,000.00	\$16,000.00
16	5. TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$1,500.00	\$4,500.00	\$2,075.00	\$6,225.00	\$1,000.00	\$3,000.00	\$1,500.00	\$4,500.00
17	7. REMOVE AND OFFSITE DISPOSAL OF EXISTING 6" CONCRETE CURB, COMPLETE IN PLACE	LF	115	\$1.50	\$172.50	\$24.85	\$2,857.75	\$20.00	\$2,300.00	\$4.00	\$460.00
18	B. REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	75	\$28.00	\$2,100.00	\$18.00	\$1,350.00	\$15.00	\$1,125.00	\$100.00	\$7,500.00
19	. INSTALL, MAINTAIN, AND REMOVE FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	8721	\$1.60	\$13,953.60	\$1.60	\$13,953.60	\$1.60	\$13,953.60	\$1.60	\$13,953.60
20	D. MISCELLANEOUS DRAINAGE SWALES, V BOTTOM, GRADED TO DRAIN, INCLUDING HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	LF	2000	\$4.00	\$8,000.00	\$4.00	\$8,000.00	\$4.00	\$8,000.00	\$4.00	\$8,000.00

FRN F-1386

LJA Engineering, Inc.

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 237A, FORT BEND COUNTY WATER CONTROL AND IMPROVEMENT DISTRICT NO. 12 CITY OF THOMPSONS E.T.J., FORT BEND COUNTY, TEXAS

MAY 02, 2025
LJA ENGINEERING, INC.
D.CAMPOS
5/2/2025
4683-1303A&B (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

				1) HURTADO CONS	TRUCTION COMPANY	2) HARRIS CONSTRU	ICTION COMPANY, LLC	3) PRINCIPAL S	SERVICES, LTD	4) CE BARK	ER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
21	REMOVE EXISTING GRAVEL DRIVEWAYS INLCUDING METAL GATES, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	3	\$300.00	\$900.00	\$2,725.00	\$8,175.00	\$2,000.00	\$6,000.00	\$1,000.00	\$3,000.00
22	CLEARING AND GRUBBING OF STREET RIGHT-OF-WAY, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	0.91	\$1,000.00	\$910.00	\$1,000.00	\$910.00	\$1,000.00	\$910.00	\$1,000.00	\$910.00
23.	CLEARING AND GRUBBING OF PUBLIC UTILITY EASEMENTS AND RESERVES, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	1.44	\$1,000.00	\$1,440.00	\$1,000.00	\$1,440.00	\$1,000.00	\$1,440.00	\$1,000.00	\$1,440.00
24.	BROADCAST SEEDING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER) CONTACT DAVID WILLIAMSON WITH SILT SOLUTIONS AT 281.461.9950 DAVID@SILTSOLUTIONS.COM, COMPLETE IN PLACE	AC	12	\$500.00	\$6,000.00	\$500.00	\$6,000.00	\$500.00	\$6,000.00	\$500.00	\$6,000.00
25	24" WIDE SOD STRIP TO BE PLACED BEHIND BACK OF CURB (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	2073	\$1.00	\$2,073.00	\$1.00	\$2,073.00	\$1.00	\$2,073.00	\$1.00	\$2,073.00
26	SOD FOR EROSION CONTROL, AS NECESSARY, COMPLETE IN PLACE	SY	500	\$1.00	\$500.00	\$1.00	\$500.00	\$1.00	\$500.00	\$1.00	\$500.00
27.	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$750.00	\$750.00
28.	METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER GBI PARTNERS, LP, 281.499.4539, FOR PAVING, COMPLETE IN PLACE	LS	1	\$1,850.00	\$1,850.00	\$1,850.00	\$1,850.00	\$1,850.00	\$1,850.00	\$1,850.00	\$1,850.00
29	AS-BUILT FINAL GRADING SURVEY, MUST BE DONE BY GBI PARTNERS, LP, 281.499.4539, AND MUST BE SUBMITTED TO ENGINEER PRIOR TO COMPLETION, COMPLETE IN PLACE	LS	1	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
30	FORT BEND COUNTY REINSPECTION FEE, PER COUNTY REQUIREMENTS, AS NEEDED, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
31.	REMOVE AND REPLACE EXISTING SIDEWALK AND LANDSCAPING, AS NECESSARY, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LS	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
SUBTOT	AL PAVING AND APPURTENANCES ITEMS				\$776,160.88	-	\$815,213.75	_	\$729,419.60	_	\$874,472.80
BID SUN	IMARY	_									
CITY OF	ROSENBERG WATER SYSTEM ITEMS				\$796,640.00		\$954,710.65		\$782,237.09		\$1,166,808.00
DRAINA	GE FACILITIES ITEMS				\$519,088.00		\$727,168.90		\$1,247,231.16		\$733,285.00
PAVING	AND APPURTENANCES ITEMS				\$776,160.88		\$815,213.75		\$729,419.60		\$874,472.80
TOTAL A	MOUNT BASE BID				\$2,091,888.88		\$2,497,093.30		\$2,758,887.85		\$2,774,565.80